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3HQHOLWLDQ� LQL� GLODNXNDQ� GHQJDQ� WXMXDQ� XQWXN�PHQJHWDKXL� SHQJDUXK� SURILWDELOLWDV�� OHYHUDJH��

OLNXLGLWDV� ILQDQFLDO�GLVWUHVV ��DXGLWRU�FOLHQW�WHQXUH�GDQ�UHSXWDVL�DXGLWRU�WHUKDGDS�SHQHULPDDQ�

RSLQL�DXGLW�JRLQJ�FRQFHUQ��3HQHOLWLDQ�LQL�PHQJJXQDNDQ�SHUXVDKDDQ�\DQJ�EHUJHUDN�GL�LQGXVWUL�

SHUWDPEDQJDQ� VHEDJDL� SRSXODVL� SHQHOLWLDQ�� 3HULRGH� SHQHOLWLDQ� GLODNXNDQ� VHODPD� �� WDKXQ�

GLPXODL�GDUL������������6HOXUXK�GDWD�SDGD�SHQHOLWLDQ�LQL�GLRODK�GHQJDQ�PHQJJXQDNDQ�PHWRGH�

DQDOLVLV�UHJUHVL�ORJLVWLN�ELQHU��'DUL�KDVLO�SHQHOLWLDQ�LQL�GLNHWDKXL�EDKZD�SURILWDELOLWDV��OHYHUDJH��

OLNXLGLWDV� ILQDQFLDO� GLVWUHVV �� DXGLWRU� FOLHQW� WHQXUH� GDQ� UHSXWDVL� DXGLWRU� WLGDN� EHUSHQJDUXK�

WHUKDGDS�SHQHULPDDQ�RSLQL�DXGLW�JRLQJ�FRQFHUQ�
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